NEW JERSEY TURNPIKE AUTHORITY

Bid Price Sheet - Section A

NEW JERSEY TURNPIKE AND GARDEN STATE PARKWAY LOCATIONS

$\underline{MULTIPLY\ COLUMNS\ "B"\ X\ "C"\ X\ "D" = "E"}$

ITI		QTY.	MONTHLY COST	NUMBER OF	TOTAL COST
"A		"B"	"C"	MONTHS "D"	"E"
1.	Maintenance, Inspection & Testing of Passenger Elevator; District 8 Maintenance Yard, GSP MP 164 South, Paramus APPROXIMATE IN SERVICE DATE 2-2018	1	* 90	24	\$2160
2.	Maintenance, Inspection & Testing of Passenger Elevator; District 7 Maintenance Yard, GSP MP 156 North, Clifton APPROXIMATE IN SERVICE DATE 8-2018	1	\$ 85	24	\$ 2040
3.	Maintenance, Inspection & Testing of Passenger Elevator; Bloomfield State Police, GSP MP 153 North, Bloomfield	1	\$90	24	\$2160
4.	Maintenance, Inspection & Testing of Passenger Elevator; District 6 Maintenance Yard, GSP MP 137.8 South, Clark	1	\$ 100	24	\$ 2400
5.	Maintenance, Inspection & Testing of Passenger Elevators; Traffic Management Center, King Georges Rd., Woodbridge	. 4	\$ 100	24	\$ 9600
6.	Maintenance, Inspection & Testing of Passenger Elevator; Raritan North Tolls, GSP MP 125.3 North, Sayreville	1	\$ 90	24	\$2160
7.	Maintenance, Inspection & Testing of Dumbwaiter; Raritan South Tolls, GSP MP 125.3 South, Sayreville	1	\$ 75	24	\$1800
8.	Maintenance, Inspection & Testing of Passenger Elevator; District 5 Maintenance Yard, GSP MP 116 South, Holmdel APPROXIMATE IN SERVICE DATE 2-2018	1	\$ 80	24	\$ 1920
9.	Maintenance, Inspection & Testing of Passenger Elevator; Holmdel State Police, GSP MP 116 South, Holmdel	1	\$ 90	24	\$2160
10.	Maintenance, Inspection & Testing of Passenger Elevator; District 4 Maintenance Yard, GSP MP 94.3 South, Brick APPROXIMATE IN SERVICE DATE 1-2018	1	\$ 100	24	\$ 2400
11.	Maintenance, Inspection & Testing of Dumbwaiters; Lakewood Tolls, GSP MP 90.0 North & MP 90.0 South, Lakewood	2	\$ 70°	24	:3360

Bid Price Sheet - Section A (Continued)

NEW JERSEY TURNPIKE AND GARDEN STATE PARKWAY LOCATIONS

$\underline{MULTIPLY\ COLUMNS\ "B"\ X\ "C"\ X\ "D" = "E"}$

ITEM	DESCRIPTION	QTY.	MONTHE	LAWMEN	
#	Discrit How	QII.	MONTHLY	NUMBER OF MONTHS	TOTAL COST
"A"		"B"	"C" , (4	"D"	"E"
12.	Maintenance, Inspection & Testing of Dumbwaiters; Berkeley Tolls, GSP MP 77.5 North & MP 78.4 South, Berkeley Twp.	2	\$ 70	24	\$ 3368
1 3.	Maintenance, Inspection & Testing of Dumbwaiters; Waretown Tolls, GSP MP 70.4 North & MP 70.4 South, Lacey Twp.	2	\$ 70	24	s 3360
/14.	Maintenance, Inspection & Testing of Passenger Elevator; District 3 Maintenance Yard, GSP MP 67.7 North, Barnegat APPROXIMATE IN SERVICE DATE 12-2017	1	s 00°	24	\$ 21.60
15.	Maintenance, Inspection & Testing of Passenger Elevator; Galloway State Police, GSP MP 41.6 South, Galloway	1	\$ 90	24	\$ 2160
16.	Maintenance, Inspection & Testing of Passenger Elevator; District 2 Maintenance Yard, GSP MP 41.1 South, Absecon APPROXIMATE IN SERVICE DATE 12-2017	1	\$ 90	24	\$2160
17.	Maintenance, Inspection & Testing of Passenger Elevator; District 1 Maintenance Yard, GSP MP 13.8 South, Swainton APPROXIMATE IN SERVICE DATE 11-2017	1	\$ 90	24	s · 2160
18.	Maintenance, Inspection & Testing of Passenger Elevators; Authority's HQ Building, 1 Turnpike Plaza, Woodbridge	5	\$100	24	\$ 12000
19.	Maintenance, Inspection & Testing of Passenger Elevator; District 8 Maintenance Yard, TPK MP 111.5 South, Secaucus	1	\$.9D	24	\$2160
20. F	Maintenance, Inspection & Testing of Passenger Elevator; Newark State Police, TPK MP 104.7 South, Newark	1	\$ 90	24	\$ 2160
21. F	Maintenance, Inspection & Testing of Passenger Elevator; Interchange 14 Utility Building, TPK MP 104.7 South, Newark	1	\$ 90	24	\$ 2160
22. N P Y A	Maintenance, Inspection & Testing of assenger Elevator; District 6 Maintenance ard, TPK MP 100.4 North, Elizabeth PPROXIMATE IN SERVICE DATE 2-2018	1	\$ 90	24	\$ 2160
23. Pa	Maintenance, Inspection & Testing of assenger Elevator; Central Services, TPK MP 0.0 North, Woodbridge	1	\$ 90	24	\$ 2160
24. Pa	laintenance, Inspection & Testing of assenger Elevator; Administration Building, PK MP 83.4, New Brunswick OT IN SERVICE	1	\$ 90	1	\$ 2160

RM-134733 INSPECTIONS AND MAINTENANCE OF ELEVATORS (AUGUST, 2017)

de la char

Bid Price Sheet - Section A (Continued)

NEW JERSEY TURNPIKE AND GARDEN STATE PARKWAY LOCATIONS

MULTIPLY COLUMNS "B" X "C" X "D" = "E"

ITEM	DESCRIPTION	QTY.	MONTHLY	NUMBER	TOTAL
#			COST	OF	COST
"A"		"B"	"C"	MONTHS "D"	"E"
25.	Maintenance, Inspection & Testing of Dumbwaiters; Administration Building, TPK MP 83.4, New Brunswick NOT IN SERVICE	2	\$ 70	24	\$3360
26.	Maintenance, Inspection & Testing of Passenger Elevator; District 5 Maintenance Yard, TPK MP 80.7 South, Milltown APPROXIMATE IN SERVICE DATE 1-2018	1	\$ 90	24	\$ 2160
27.	Maintenance, Inspection & Testing of Passenger Elevator; Law Enforcement Center, TPK MP 71.4 South, Cranbury	1	\$ 90	24	s 2160
28.	Maintenance, Inspection & Testing of Passenger Elevator; District 4 Maintenance Yard, TPK MP 67.6 South, Hightstown APPROXIMATE IN SERVICE DATE 2-2018	1	\$ 90	24	\$2160
29.	Maintenance, Inspection & Testing of Passenger Elevator; District 3 Maintenance Yard, TPK MP 56.5 North, Crosswicks APPROXIMATE IN SERVICE DATE 2-2019	1	\$ 65	24	\$1560
30.	Maintenance, Inspection & Testing of Passenger Elevator; District 2 Maintenance Yard, TPK MP 37.1 North, Mt. Laurel APPROXIMATE IN SERVICE DATE 12-2018	1	s 9D	24	s 2160
31.	Maintenance, Inspection & Testing of Passenger Elevator; Moorestown State Police, TPK MP 37.1 South, Mt. Laurel	1	\$ 90	24	\$ 2160
32,	Maintenance, Inspection & Testing of Passenger Elevator; District 1 Maintenance Yard, TPK MP 13.2 North, Woolwich Twp APPROXIMATE IN SERVICE DATE 12-2017.	1	\$ 90	24	s 2160
<i>3</i> 3.	Maintenance, Inspection & Testing of Passenger Elevators; Interchange 1 Toll Plaza, TPK MP 2.6, Deepwater	3	\$ 100	24	\$ 6480

TOTAL BID PRICE FOR SECTION "A" (LINES 1 THROUGH 33) - \$ 96,840



Bid Price Sheet-Section B

NEW JERSEY TURNPIKE AND GARDEN STATE PARKWAY LOCATIONS

MULTIPLY COLUMNS "B" X "D" = "E"

ITEM #	DESCRIPTION	HOURS	N/A	HOURLY RATE	TOTAL COST	
"B"		"B"	"c"	"D"	"E"	
1.	Regular Hourly Rate for Additional Services as Directed by the NJTA for Elevators and Dumbwaiters at any Location	500	, N/A	\$ 145	\$72,500	29 D
2.	Emergency Hourly Rate for Additional Services as Directed by the NJTA for Elevators and Dumbwaiters at any Location	600	· N/A	\$200	\$ 140.00	cxi

TOTAL BID PRICE FOR SECTION "B" (LINES 1 AND 2) - \$ 192,500

GRAND TOTAL BID PRICE FOR SECTIONS "A" AND "B" - \$ 289 340

Name of Company and / Muthorized Signature of Bidder

NEW JERSEY TURNPIKE AUTHORITY

Andrea E. Ward Director, PMM Department